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Enrollment No………………………. 

Diploma in Engineering (Polytechnic) 

Third Semester Main Examination, Dec-2020 

Basic Electrical Engineering & Materials [EED301] 

Branch-EE 

Time: 3:00 Hrs                                                                          Max Marks 70 

Note : Student should not write anything on question paper. 

           Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8 
 

 

Q.1 Multiple choice Question / oLrqfu"B iz’u       [2×5=10] 

(i)  In oxy-acetylene welding the flame temperature is -  
 ऑक्सी-एसससिलीन में वेस्डिंग की लौ का तापमान होता है - 

 (a) 1600-1700°C     (b) 2000-2100°C  

 (c) 2500-2600°C    (d) 3200-3300°C  

 

(ii)  In oxy-acetylene welding color of oxygen cylinder is - 
 ऑक्सीजन ससलेंडर का ऑक्सी-एसससिलीन वेस्डिंग रिंग ह ै& 

 (a) Red / लाल     (b) Maroon / लाल रिंग 

 (c) Black / काली    (d) Brown / भूरा 

  

(iii)  Acetylene can be prepared by the chemical reaction between - 
 एसससिलीन के बीच रासायसनक प्रसतसिया द्वारा तैयार सकया जा सकता है & 

 (a) Water and Calcium carbide / पानी और कैस्ियम काबााइड   

 (b) Water and Calcium carbonate / पानी और कैस्ियम काबोनेि  

 (c) Hydrogen and Calcium carbide / हाइड्रोजन और कैस्ियम काबााइड  

 (d) Hydrogen and Calcium carbonate / हाइड्रोजन और कैस्ियम काबोनेि 

  

(iv)  Which of the following is an example of fusion welding - 
 सनम्नसलसित में से कौन फ्यूजन वेस्डिंग का एक उदाहरण ह ै- 

 (a) Arc welding / आका  वेस्डिंग   

 (b) Forge welding / फोजा वेस्डिंग 

 (c) Resistance welding / प्रसतरोध वेस्डिंग   

 (d) Thermite welding with pressure / दबाव के साथ थमााइि वेस्डिंग 

 

 

 

 



Page [2] 

 

 (v)  Which of the following welding process is used for welding of sheet metals in 

automobile and air craft industries - 
सनम्नसलसित में से सकस वेस्डिंग प्रसिया का उपयोग ऑिोमोबाइल और एयर िाफ्ि उद्योगों में िीि धातओु िं की  वेस्डिंग 

के सलए सकया जाता ह ै- 

 (a) Shield metal arc welding / िी्ड मेिल आका  वेस्डिंग     

 (b) Gas tungsten arc welding / गैस ििंग्सिन आका  वेस्डिंग  

 (c) Thermit welding / थसमाि वेस्डिंग   

 (d) Resistance welding / प्रसतरोध वेस्डिंग 

 

Q.1 (a) State and explain Ohm’s Law. 
ओम का सनयम सलिे और समझाए |   

(b) Explain star - delta Transformation. 
 स्िार – डे्िा पररवतान समझाए | 

Q.2  (a) Write all Loop Equations for the circuit. 

 ससका ि के सलए सभी लूप समीकरण सलिें। 

   

 

 

 

  

(b) Explain statement of KCL and KVL. 
KCL और KVL के कथन समझाओ । 

 

Q.3 (a) Define Following: / सनम्नसलसित को पररभासित करें: 

 (i) Capacitance / धाररता    (ii) Reactance / ररअक्िेस    (iii) Impedance / ईसपडेंस    
(b) Write the difference between AC & DC Quantities.  
एसी और डीसी मात्रा के बीच अिंतर सलिें । 

 

Q.4 (a) Define and explain: / पररभासित करें और समझाएिं:     

(i) Average value/ औसत मान  (ii) RMS value / आर एम एस मान    
(iii) Form Factor / फामा फेक् िर       (iv) Frequency / आवसृि 

(b) Derive an expression of impedance and admittance of RLC series circuit with 

waveform.  
 प्रसतबाधा और तरिंग के साथ RLC श्ृिंिला ससका ि के प्रवेि की असभव्यसि प्राप्त । 

  

Q.5 (a) Define Following: / सनम्नसलसित को पररभासित करें: 

 (i) MMF / एम एम एफ         

(ii)  Magnetic Flux Density/ चुिंबकीय प्रवाह घनत्व  

(iii) Magnetic Field Intensity / चुिंबकीय के्षत्र तीव्रता                              

(iv) Reluctance / रीलकिेन्स  
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(b) Explain Faraday's laws of electromagnetic induction / फैराडे के सवद्यतु चमु्बकीय प्रेरण के 

सनयमों को बताएिं | 

  

Q.6 (a) Write Difference between electric and magnetic circuit  
 सबजली और चुिंबकीय ससका ि के बीच अिंतर सलिें A 

(b) Write Fleming's left and right-hand rule. / फ्लेसमिंग के बाएिं और दाएिं हाथ वाले सनयमको सलिें |      

Q.7 (a) Define Following / सनम्नसलसित को पररभासित करें | 

(i) Conductors / किं डक्िर,    (ii) Insulators / इिंसलेुिर     (iii) Semiconductors / अधाचालक 
(b) Explain difference between Intrinsic and extrinsic semiconductor materials. 
आिंतररक और बाहरी अधाचालक सामग्री के बीच अिंतर का वणान करें | 

 

Q.8 (a) Write the classification of insulating materials on the basis of temperature. 
तापमान के आधार पर इन्सलेुिर सामग्री के वगीकरण को सलिें | 

 (b) Explain B-H curve. 
 B-H कवा को समझाए | 
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Enrollment No………………………. 

Diploma in Engineering (Polytechnic) 

Third Semester Main Examination, Dec-2020 

Electrical Circuits [EED302] 

Branch-EE 

Time: 3:00 Hrs                                                                          Max Marks 70 

Note : Student should not write anything on question paper. 

           Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8 

 

Q.1 Multiple choice Question / oLrqfu"B iz’u&        [2x5=10] 

(i)  A 2 Ohms resistor having 1 ampere current will dissipate the power of - 
 1 ,fEi;j djaV okys 2 vkse vojks/kd dh ’kfDr dks fo?kfVr dj nsxk& 

 (a) 2 Watts / 2 okWV~l    (b) 2 Joules / 2 twy 

 (c) 1 Watt / 1 okWV                   (d) 1 Joule / 1 twy 

  

(ii)  When 2 volts E.M.F is applied across a 1 farad capacitor, it will store the energy of - 
 tc nks oksYV bZ- ,e- ,Q 1 QSjkMs dSisflVj ds ikj yx;k tkrk gS] ;g dh ÅtkZ dks LVksj djsxk& 

 (a) 2 Joules / 2 twy    (b) 2 Watts / 2 okWV~l 

 (c) 4 Joules / 4 twy   (d) 1 Watts / 1 okWV~l 
 

(iii)  A 1 H inductance carrying the current of amperes will store the energy of  
 ,Eih;j dh /kkjk dks ys tkus okyk 1 ,p baMD’ku ÅtkZ dk HkaMkj.k djsxk 

 (a) 2 Watts / 2 okWV~l    (b) 2 Joules / 2 twy 

 (c) 4 Watts / 4 okWV~l    (d) 4 Joules / 4 twy 

 

(iv)  An electrical circuit with 10 branches and 7 junctions will have 
 10 'kk[kkvksa vkSj 7 taD'kuksa ds lkFk ,d fo|qr lfdZV gksxk& 

 (a) 10 loop equations  / 10 ywi lehdj.k  

 (b) 4 loop equations /  4 ywi lehdj.k  

 (c) 3 loop  equation / 3 ywi lehdj.k  

 (d) 7 loop equation  / 7 ywi lehdj.k  

 

(v)  An electrical circuit with 8 Independent nodes will have  
 8 Lora= uksM~l ds lkFk ,d fon~;qr lfdZV gksxk& 

 (a) 10 Node equation  / 10 uksM lehdj.k 

 (b) 4 Node equation / 4 uksM lehdj.k  

 (c) 3 Node equation / 3 uksM lehdj.k 

 (d) 7 Node equation / 7 uksM lehdj.k 
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Q.2 (a) Derive an expression for equivalent impedance in series RLC circuit. 
J`a[kyk vkj,ylh lfdZV esa leku izfrck/kk ds fy, ,d vfHkO;fDr O;qRiUu dhft,A 

  

 (b) What do you understand by time constant of series RL and RC circuit?  
J`aa[kyk vkj,y vkSj vkjlh lfdZV ds le; ds vuqlkj vki D;k le>rs gSaA 

 

Q.3 (a) State and prove maximum power transfer theorem in AC circuit? 
,lh lfdZV esa vf/kdre ’kfDr gLrkarj.k izes; lkfcr dhft,A 

(b) If the resistances 1 Ω , 2Ω  3Ω , and 4 Ω in parallel connected across 20 v 

source then find the current across 3 Ω resistance? 

;fn 20 v L=ksr esa 1 Ω , 2Ω  3Ω  vkSj 4 Ω across tqM+s gS rks 3 Ωizfrjks/k ds ikj dajV Kkr 

dhft,A 

 

Q.4 (a) Calculate the Thevenin reistance across the terminal AB for the following 

 circuit? 
fuEufyf[kr lfdZV ds fy, VfeZUky ,ch esa Fksosfuu izfrjks/k dh x.kuk dhft,A 

 

 

 

 

 

 

 

  

 

(b) Write statement of Norton’s Theorem and Thevenin’s Theorem. 
ukWVZUk ds izesa; vkSj Fksosfuu ds izes; dk fooj.k fyf[k,A 

 

Q.5 (a) Define following  /fuEufyf[kr dks ifjHkkf"kr dhft,%& 

(a) Active Element /lfØ; rRo   (b) Passive Element / fuf"Ø; rRo  

(c)  Unilateral Element / ,di{kh; rRo  (d) Bilateral Element / n~foi{kh; rRo 
 

 (b) Using the superposition theorem determine the voltage drop and current across 

the resistor 3.3  K Ω as shown in figure 

lqijiksft’ku izesa; dk mi;ksx djds 3.3  K Ω izfrjks/k ds ikj dajV vkSj oksYVst MªkWi dks fu/kkfjr 

dhft,A 
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Q.6 (a) Define power factor. What are the losses due to poor power factor? 
ikoj QSDVj dks ifjHkkf"kr dhft, \ [kjkc ikoj QSDVj ds dkj.k D;k uqdlku gSa\ 

  (b) Derive an expression for equivalent impedance of RLC parallel circuit. 

RLC lekukarj lfdZV ds lerqY; izf/kck/kk ds fy, ,d vfHkO;fDr O;qRiUu dhft,A 

 

Q.7 (a) What are the advantages of three phase over single phase power supply? 
,dy pj.k fctyh  vkiwfrZ ij rhu pj.k ds D;k Qk;ns gSaA 

(b) Explain star – delta transformation. 
 LVkj MsYVk ifjorZu dh O;k[;k dhft,A 

 

Q.8 (a) State and explain resonance in a RLC series circuit. 
,d vkj,ylh J[̀kyk lfdZV esa izfr/ofu dh fLFkfr O;k[;k dhft,A 

(b) Define admittance and susceptance. 
ços'k vkSj laosnu'khyrk dks ifjHkkf"kr djsaA 
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Enrollment No………………………. 

Diploma in Engineering (Polytechnic) 

Third Semester Main Examination, Dec-2020 

Electrical Machines – I [EED303] 

Branch-EE 

Time: 3:00 Hrs                                                                          Max Marks 70 

 

Note : Student should not write anything on question paper. 

           Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8 

 

Q.1 Multiple choice Question / oLrqfu"B iz'u       [2×5=10] 

(i)  Due to over damping, the instrument will become- 

 vfro`f) ds dkj.k] lk/ku cu tk,xk& 

 (a) Slow / /khjs    (b) Lethargic / lqLr 

 (c) Fast / rst    (d) Both (a) and (b) A vkSj B nksuksa 

  

(ii)  A differential relay comparator used for the protection of three phase transformers 

has- 

 rhu pj.k VªkalQkeZj ds laj{k.k ds fy, mi;ksx fd;k x;k ,d varj fjys rqyfu= gS& 

 (a) One comparator/ ,d rqyfu= (b) Two comparator / nks rqyfu= 

 (c) Three comparator/ rhu rqyfu= (d) Six comparator / Ng rqyfu= 

  

(iii)  In double delta transformation a double delta refers to the case where there are two 

delta transformations in- 

Mcy MsYVk ifjorZu esa] ,d Mcy MsYVk ml ekeys dks lanfHkZr djrk gS tgk¡ nks MsYVk ifjorZu gksrs gSa& 

           (a) Parallel / lekukarj  

 (b) Series / J`a[kyk  

 (c) Both series and parallel / J`a[kyk vkSj lekukarj nksuksa  

 (d) Neither series nor parallel / u rks J`a[kyk vkSj u gh lekukarj 

 

(iv)  Most familiar application of zig  zag transformer is as- 

 ftx & tSx VªkalQkeZj dk lcls ifjfpr vuqç;ksx gS& 

(a) Ground reference on an ungrounded system/,d Hkwfexr ç.kkyh ij xzkmaM lanHkZ 

(b) Converting single phase to two phase/,dy pj.k dks nks pj.k esa ifjofrZr djuk 

(c) Reducing harmonics/gkjeksal dks de djuk 

 (d) All of these / ;s lHkh  
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(v)  In a single phase, full wave bridge circuit and in three phase, delta full wave bridge  

 circuit,  the ripple voltage frequency is always:- 

 ,d ,dy pj.k esa] iw.kZ ygj iqy lfdZV vkSj rhu pj.k esa] MsYVk iw.kZ ygj iqy lfdZV] ygj oksYVst  

 vko`fÙk ges'kk gksrh gS%& 

 (a) Twice the line frequency, six times the line frequency 

 nks ckj ykbu ÝhDosalh] Ng ckj ykbu ÝhDosalh   

 (b)Both will be twice the line frequency  
 nksuksa ykbu ÝhDosalh ls nksxquh gksxh 

(d) Both will be six times the lines frequency 

nksuksa ykbuksa dh vko`fÙk ds Ng xquk gksaxs 

(e) None of these 

buesa ls dksbZ ugha 

 

Q.2 (a) What is an autotransformer? Explain its working with advantages over two  

 winding transformer. 

vkWVksVªkalQkeZj D;k gS\ nks ?kqekonkj VªkalQkeZj ij Qk;ns ds lkFk blds dke dh O;k[;k dhft,A 

 (b) Explain energy conservation principle. 

ÅtkZ laj{k.k fl)kar dh O;k[;k dhft,A 

 

Q.3 (a) Draw a neat sketch of a D.C. generator? State the function of each part. 

 Mh lh tujsVj dk ,d lkQ Ldsp cukb,\ çR;sd Hkkx ds dk;Z dks crkb,A 

(b) Explain the Sumpner test of a single phase transformer with circuit diagram. 

lfdZV vkjs[k ds lkFk ,dy pj.k VªkalQkeZj ds Sumpner ijh{k.k dh O;k[;k dhft,A 

 

Q.4 (a) Explain the following: / fuEufyf[kr dh O;k[;k dhft,& 

 (i) Scott connection / LdkWV dusD'ku 

 (ii) Pulse transformer / iYl VªkalQkeZj 

 (iii) Tap Changers / VSi psatlZ  

(iv) Explain Y-Y operation of three phase transformer. 

rhu pj.k ds VªkalQkeZj ds okbZ & okbZ vkWijs'ku ds ckjs esa crkb,A 

 

Q.5 (a) What are the conditions to put on two single phase transformer in parallel 

 operation? 

 lekukarj lapkyu esa nks flaxy Qst VªkalQkeZj ij yxkus dh D;k 'krsZa gS\ 

(b) Derive the E.M.F. equation of DC generator. 

Mhlh tujsVj dk E.M.F. lehdj.k crkb,A 
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Q.6 (a) A 4- pole wave wound armature has 720 conductors and is rotated at 1000 

rev/min. If the useful flux is 20mwb calculate the generated voltage. 

 ,d 4& iksy ?kko vkesZpj esa 720 daMDVj gksrs gS vkSj bls 1000 jso @ feuV eas ?kqek;k tkrk gSA ;fn  

mi;ksxh izokg 20mwb gS rks tujsVsM oksYVst dh x.kuk dhft,A 

(b) What is armature reaction? Describe the effects of armature reaction on 

 operation of a DC machine. 

vkesZpj izfrfØ;k D;k gS\ Mhlh e'khu ds lapkyu ij vkesZpj izfrfØ;k ds izHkkoksa dk o.kZUk dhft,A 

  

Q.7 (a) Explain the process of commutation in DC machine. 

Mhlh e'khu esa dE;wVs'ku dh izfØ;k crkb,A 

(b) What are the losses that occur in DC machine? 

Mhlh e'khuksa esa gksus okys uqdlku D;k gS\ 

 

Q.8 (a) Derive the condition for maximum efficiency of a DC Generator. 

,d Mhlh tujsVj dh vf/kdre n{krk ds fy, fLFkfr dks fuf"Ø; dhft,A 

(b) Name the various method of speed control of DC motors and describe any one of 

them. 

Mhlh eksVlZ dh xfr fu;a=.k dh fofHkUu fof/k dk uke crkb, vkSj muesa ls fdlh ,d o.kZu dhft,A 
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Enrollment No………………………. 

Diploma in Engineering (Polytechnic) 

Third Semester Main Examination, Dec-2020 

Electrical & Electronics Measurement and Measuring Instruments 

[EED304] 

Branch-EE 

Time: 3:00 Hrs                                                                          Max Marks 70 
Note : Student should not write anything on question paper. 

           Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8 

 

Q.1        Multiple Choice Question / oLrqfu"B iz’u       [2x5=10] 

(i)  The full range of audibility in audio frequency oscillator is- 
 v‚fM;ks vko`fÙk FkjFkjkuokyk esa JO;rk dh iwjh J`a[kyk gS& 

 (a) 0 to 20 Hz / 0 ls 20 gV~Zt 

 (b) 20 Hz to 2 kHz / 20 gV~Zt ls 2 fdyksgV~Zt 

 (c) 20 Hz to 20 kHz / 20 gV~Zt ls 20 fdyksgV~Zt 

 (d) 20 Hz to 20 kHz / 20 gV~Zt ls 20 esXkkgV~Zt 

  

(ii)  A liquid crystal display requires- 
 ,d fyfDoM fØLVy fMLIys dh vko';drk gksrh gS& 

 (a) An AC drive / ,d ,lh Mªkbo 

 (b) A DC drive / ,d Mhlh Mªkbo 

 (c) Both AC and DC drive /nksuksa ,lh vkSj Mhlh Mªkbo 

 (d) None of these / buesa ls dksbZ ugha 

  

(iii)  Optical sensors used for the displacement measurement works on the principal that- 
foLFkkiu eki ds fy, mi;ksx fd, tkus okys v‚fIVdy lsalj fçafliy ij dke djrs gSa& 

(a) Intensity of light increases with distance/nwjh ds lkFk çdk'k dh rhozrk c<+ tkrh 

(b) Intensity of light decreases with distance/ nwjh ds lkFk çdk'k dh rhozrk de gks 
tkrh gS 

 (c) Intensity of light remains constant with distance /çdk'k dh rhozrk nwjh ds lkFk fLFkj 

 jgrh gS 

 (d) Intensity of light increases with time /le; ds lkFk çdk'k dh rhozrk c<+rh tkrh gS 

  

(iv)  Capacitance sensor can measure very small displacement- It can be formed by  

 varying 
 dSisflVsal lsalj cgqr NksVs foLFkkiu dks eki ldrk gSA bls vyx&vyx djds cuk;k tk ldrk gS 

          (a) Separation / i`FkDdj.k     

 (b) Area / {ks= 

 (c) Permittivity / ijkoSn~;qrkad  

 (d) Either (a) or (b) or (c) / ;k rks ¼,½ ;k ¼ch½ ;k ¼lh½ 
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(v)  The ionization gauge an instrument used for the measurement of 
 vk;uhdj.k xst eki ds fy, bLrseky ,d midj.k gS 

 (a) Very low pressure / cgqr de ncko  (b) Medium pressure /e/;e ncko 

 (c) High pressure / vf/kd ncko  (d) Very high pressure /cgqr mPp ncko 

 

Q.2 (a) Explain the method of measuring the dielectric loss with the help of Schering 

Bridge. 

Schering Bridge dh enn ls <kadrk gqvk uqdlku dks ekius dk rjhdk crkb,A 

(b) Write a short note on Following / fuEufyf[kr ij ,d laf{kIr uksV fyf[k,%& 

(i) Maxwell Bridge / eSDlosy fczt 

(ii) Anderson Bridge / ,aMjlu fczt 
 

Q.3 (a) Explain different types of errors in instruments. 
;a=ksa esa fofHkUu çdkj dh =qfV;ksa dh O;k[;k dhft,A 

  (b) Write a short note on Megger. 
esxj ij ,d NksVk uksV fyf[k,A 

 

Q.4 (a) Explain digital voltmeter with block diagram  
Cy‚d vkjs[k ds lkFk fMftVy okYVehVj dh O;k[;k dhft,A 

 (b) What are errors? Differentiate between accuracy and precision. 
=qfV;k¡ D;k gSa\ lVhdrk vkSj lVhdrk ds chp varj dhft, A 

 

Q.5 (a) What is CRO? Explain its working. 

CRO D;k gS\ blds dk;Z dh O;k[;k dhft,A 

(b) Differentiate between CT and PT. 
lhVh vkSj ihVh ds chp varj dhft, A 

 

Q.6 (a) Define following / fuEufyf[kr ifjHkkf"kr dhft, & 

 (i) Sensitivity/ laosnu’khyrk 

(ii) Resolution/ ladYi  

(b) Explain the working of dual beam Oscilloscope. 
nksgjh che vkWflyksLdksi dh dk;Ziz.kkyh dks le>kb,A 

  

Q.7 (a) Write a short note on 3 phase Wattmeter. 
3 pj.k o‚VehVj ij ,d NksVk uksV fyf[k,A 

(b) Describe in brief Balastic Galvanometer. 

 la{ksi esa Balastic Galvanometer dk o.kZu dhft,A 

 

Q.8 (a) Classify different types of resistance 
fofHkUu çdkj ds çfrjks/kksa dks oxhZ—r dhft,A 

 (b) Differentiate between digital storage and multi channel CRO.  
fMftVy LVksjst vkSj eYVh pkSuy lhvkjvks esa varjA 
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Enrollment No………………………. 

Diploma in Engineering (Polytechnic) 

Third Semester Main Examination, Dec-2020 

Basic Electronics [EED305] 

Branch-EE 

Time: 3:00 Hrs                                                                          Max Marks 70 

Note : Student should not write anything on question paper. 

           Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8 

 

Q.1 Multiple choice Question / oLrqfu"B iz'u    [2x5=10] 

(i)  What is the major functioning role of VVR in the multistage AGC amplifier circuit 

during an increment in the signal level- 
flXuy Lrj esa o`f) ds nkSjku eYVhLVst ,thlh ,EiyhQk;j lfdZV esa ohohvkj dh çeq[k dk;Z Hkwfedk 

D;k gS& 

(a)Variation in control of input signal level/buiqV flXuy Lrj ds fu;a=.k esa cnyko 

(b) Variation in voltage gain of multistage amplifier/eYVhLVst ,EiyhQk;j ds oksYVst ykHk 

esa fofo/krk  

(c) Variation in current gain of multistage amplifier/ eYVhLVst ,EiyhQk;j ds orZeku ykHk 

esa fofo/krk   

(d) Variation in control of output signal level/ vkmViqV flXuy Lrj ds fu;a=.k esa cnyko 
 

(ii) The rectified & filtered signal taken at a high level point in AGC amplifier generates 

_______ 

,thlh ,EIyhQk;j esa mPp Lrj ds fcanq ij fy;k x;k lq/kkjk vkSj fQYVj fd;k x;k ladsr _______ 
mRiUu djrk gS& 

(a) DC voltage proportional to the level of an output signal/Mhlh oksYVst ,d vkmViqV 

flXuy ds Lrj ds fy, vkuqikfrd  

(b) DC voltage proportional to the level of an input signal/ Mhlh oksYVst ,d buiqV flXuy 

ds Lrj ds fy, vkuqikfrd gS 

(c) AC voltage proportional to the level of output signal/ ,lh oksYVst vkmViqV flXuy ds 

Lrj ds fy, vkuqikfrd   

(d) AC voltage proportional to the level of an input signal/,lh oksYVst ,d buiqV flXuy 

ds Lrj ds fy, vkuqikfrd gS 

  

(iii)  How does the FET operate before the pinch-off region with small value of drain-to-

source voltage in accordance to the control of drain-to-source resistance by the bias 

voltage -  
,Q,bZVh dSls ck;l oksYVst }kjk Mªsu&Vw&lkslZ çfrjks/k ds fu;a=.k ds vuqlkj Mªsu&Vw&lkslZ oksYVst ds 

NksVs ewY; ds lkFk pqVdh can {ks= ls igys lapkfyr djrk gS& 

(a) As a voltage controlled resistor/,d oksYVst fu;af=r jksdusokyk ds :i esa 

(b) As a voltage dependent resistor/oksYVst fMisaMsaV fjflLVj ds :i esa 

(c) As a voltage-variable resistor/ ,d oksYVst&pj fjftLVj ds :i esa 

 (d) All of the above/ Åij ds lHkh 
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(iv)  How are the zener diodes placed internally in MOSFETs so as to provide deference 

from the hazardous consequences of stray voltage - 

vkokjk oksYVst ds [krjukd ifj.kkeksa ls cpko çnku djus ds fy, MOSFETs esa tsuj Mk;ksM dks 

vkarfjd :i ls dSls j[kk tkrk gSs& 

 (a) Alternately / oSdfYid :i ls   

 (b) Opposite to each other / ,d&nwljs ds foijhr 

 (c) Back-to-back / ,d ds ihNs ,d 

 (d)  All of the above / Åij ds lHkh 

 

(v)  FETs are widely applicable in oscilloscopes and voltmeters as an input amplifier as 

compared to bipolar transistors due to ______ 

______ds dkj.k n~fo/kzqoh VªkaftLVj dh rqyuk esa buiqV ,EiyhQk;j ds :i esa FETs O;kid :i ls 

v‚flyksLdksi vkSj oksYVehVj esa ykxw gksrs gSa& 

(a) Ability of minimizing the loading effect with high input resistance/ mPp buiqV 
çfrjks/k ds lkFk yksfMax çHkko dks de djus dh {kerk 

              (b) Ability of maximizing the loading effect with high input resistance/ mPp buiqV 
 çfrjks/k ds lkFk yksfMax çHkko dks vf/kdre djus dh {kerk 

(c) Ability of minimizing the loading effect with low input resistance/ de buiqV 

çfrjks/k ds lkFk yksfMax çHkko dks de djus dh {kerk 

(d) Ability of maximizing the loading effect with low input resistance/ de buiqV 

çfrjks/k ds lkFk yksfMax çHkko dks vf/kdre djus dh {kerk 

 

Q.2 (a) Explain Zener diode and its V-I characteristics in brief.  

tsuj Mk;ksM vkSj bldh V-I fo'ks"krkvksa dks la{ksi esa le>kb,A 

              (b) Explain NPN transistor working in commom emitter configuration. 
d‚eu ,feVj d‚fUQxjs'ku esa dke djus okys ,uih,u VªkaftLVj dh O;k[;k dhft,A 

 

Q.3 (a) Describe push pull amplifier. 
  iq'k iqy ,EiyhQk;j dk o.kZu dhft,A 

(b) What is depletion region in a PN Junction? How it is affected by forward and 

reverse biasing? 
ih,u taD'ku esa deh {ks= D;k gS\ ;g vkxs vkSj fjolZ ck;flax ls dSls çHkkfor gksrk gS\A 

  

Q.4 (a) Explain the working principle of UJT also write its application. 
;wtsVh ds dk;Z fl)kar dh O;k[;k djsa blds vuqç;ksx Hkh fyf[k,A 

 (b) Write applications of transistor amplifiers. 
VªkaftLVj ,EiyhQk;jksa ds vuqç;ksx fyf[k,A 

 

Q.5 (a) Name different types of biasing of transistor and explain any one of them with 

neat circuit diagram. 
VªkaftLVj ds fofHkUu çdkj ds iwokZxzg dk uke vkSj muesa ls fdlh ,d dks LoPN lfdZV vkjs[k ds lkFk 

le>kb,A 

(b) Write the condition for oscillation in an oscillator.  
 ,d FkjFkjkuokyk esa nksyu ds fy, fLFkfr fyf[k,A 
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Q.6 (a) Convert the decimal number 16.12 and 32.04 in binary numbers. 
n'keyo la[;k 16-12 vkSj 32-04 dks f}vk/kkjh la[;k esa ifjofrZr dhft,A 

(b) What is a bit, nibble and a byte? 
,d fcV] fucy vkSj ,d ckbV D;k gS\ 

 

Q.7 (a) Explain the working of Colpitts oscillator with a suitable diagram. 

,d mi;qDr vkjs[k ds lkFk Colpitts oscillator ds dk;Z dh O;k[;k dhft,A 

  (b) Explain the working of 555 timer- 555. 
 Vkbej ds dke ds ckjs esa crkb,A 
  

Q.8 (a) Find the results of following binary arithmetics- 
 fuEufyf[kr ckbujh vadxf.kr ds ifj.kke çkIr dhft,& 

 

         a)  11000011                    b)  10000111 

               +10001111                        -10000001 

                =  ________                       =_________ 

 (b) Differentiate between half wave rectifier and full wave rectifier. 
gkQ oso jsfDVQk;j vkSj Qqy oso jsfDVQk;j esa varj dhft,A 


